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Question Booklet.

4.  All questions are compulsory.
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9.  Use of Calculators, Slide rules, Mobiles, calculator watches or any such devices and any other study/reference
material is NOT allowed inside the examination hall.

10. Return OMR Answer Sheet to the invigilator on completion of the test. Do not take OMR Answer Sheet outside the
examination room. Doing so is a punishable offence.
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TR WEAT: 1. Ueh EeATaT ha ey oh ToftehioT 8] Holol! HIAT FATE -
RFew: ()% 15000/ (@) T 21000/-
(3T) %. 25000/- (W) ¥. 35000/

Question Number: 1. The wage ceiling for disabled employees is —
Option:  (a) Rs. 15000/- (b) Rs. 21000/-
(c) Rs. 25000/- (d) Rs. 35000/-

9o WEAT: 2. [AF=ifhd H & T Tk AT cafFd FT AT G ¢ -

Reew: (%) [@yaraAmr (@) 25 a9 & e 3 1 IF

(31) 25 a9 & AT 311 & IF (&) 25 9§ & S1eT 317 1 feeaiar g7
Question Number: 2. Who, among the following is not a dependent of the IP/IW —
Option: (a) Widowed mother (b) Son below the age of 25 years

(c) Son above the age of 25 years (d) Son above 25 years who is disabled

g HEAT: 3. fAe=ifhd 7 & FieT veh NAT cafea & IRAR T Ferg 78T ¥ -
RFeT: (&) AAe dcfet FIA 75000/- UTeY ATl et AT Teedl

(@) fo:erarear faanfear

(a1) 35 ¥ T 3T T rTAQTTEAT T

(&) T 3500/- T AT T2IeT HTed A dTell [aerar ATar

Question Number: 3. Who, among the following is not a member of the family of the IP/IW -
Option: (a) Spouse drawing salary of Rs. 75000/- per month

(b) Married daughter who is infirm

(c) Unmarried daughter who is 35 years old

(d) Widowed mother who is drawing pension of Rs. 3500/- per month

ReT HEAT: 4. TAoTifehe 7 & e §.0. 378, 3o, 1948 & 37ceT Tofihet there Y T hofardy 8T & -
REed:  (F) ol ddgs & Aregw @ Fgead waarly

(@) et qEY T # U e SrdTery 7 S1H Y 16T HAan

(1) &Feteh HoTedr o TR W forgere shaardy

(9) Teh ShoHolceC

Question Number: 4. Who, among the following is not an “employee” of a factory covered under the ESI Act —
Option: (a) A person employed through a contractor

(b) A person working in a branch office in another State

(c) A person employed on daily wages

(d) A person who is a consultant

W & 5. fAw=ifohd 7 & &1 ve AT cafda & “Aogt” 7 enfder 76T frar STar g -

R&Fed:  (F) Herel T Stcdm (@) AGIS edT
(3T) TS ST (&) ForeiareT Siear
2

Rough Work
% B
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99T WEAT: 98. 31eT 2017 T FAAFSR 2017 Tk F¥ 372reTeT AT & TTIET eemer 3rafy i A g1
REFeT: (&) Jels 2017 & fewwer 2017

(@) STeTay 2018 & S+ 2018

(3T) 37eFeR 2017 & AT 2018

() SRIFT H T PS AT |

Question Number: 98. For the Contribution period April 2017 to September 2017, the corresponding benefit period

is -

Option:  (a) July 2017 to December 2017
(b) January 2018 to June 2018
(c) October 2017 to March 2018
(d) None of the above

TR WEAT: 99. 3HeT 2018 HTE T 37T foha fereT e STAT X ST AT ATfeh SATST T §RHTeAT o I 8T
RFeT:  (F) 07 AS 2018 (@) 15 A5 2018
(1) 21 7S 2018 (]1) 31 {S 2018

Question Number: 99. Contribution for the month of April 2018 should be paid within the following date to avoid
levy of interest and damages -

Option:  (a) 07" May 2018 (b) 15th May 2018
(c) 21°* May 2018 (d) 31°* May 2018

TR HEAT: 100. A 1S AT SATFA 39 Y T TATOT I LT & Fohell & Al 380 IRITAA & A safer & smg
foreivor e=ifena 7 & fraes ganr famar Srar 82
[Fed:  (F) ool o1 RS Toiat
(@) FAART T AT ey
@) ASFA IS
(&) T Rfshcar smged

Question Number: 100. Who assesses the age of an IP who is unable to provide documentary proof of age?
Option:  (a) Civil surgeon of the district

(b) ESI dispensary

(c) Medical Board

(d) sMc
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Question Number: 5. Which, of the following, is not included as “wages” of an IP/IW —
Option: (a) House Rent allowance (b) Dearness Allowance
(c) Washing Allowance (d) Suspension Allowance

W WEAT: 6. =i U et “aitesht baed” & anfAaT g & -
RFed:  (F) TP IV HF 05 ALl 1 et aTall tharedy
(@) U a¥ 3 05 FEIel diedl & 3cUTGeT el aTell thare !
(1) T Y # 05 HES “oNE” T 3cUTeeT et aTell tharedl
(EN) ST T ScUTeeT et aTell there T

Question Number: 6. Which, of the following, is not included as a “seasonal factory” —

Option: (a) A factory working for 05 months in a year
(b) A factory manufacturing sugar for 05 months in a year
(c) A factory manufacturing “lac” products for 05 months in a year
(d) A factory manufacturing coffee

T HEAT: 7. HHARY T AT F9TH & GeEdt 7 fohde) Heeg 686 & GeE g & -

[eeT: (@) TH @ar

@n (&) TR
Question Number: 7. In the ESI Corporation, the number of members of Parliament is —
Option: (a) One (b) Two

(c) Three (d) Four

T HEAT: 8. HHAN T SVAT [HAITH & HSEAT & FSEIT hr AT -

fAFeq:  (F) ThHay (@) aray
WOGGEL (@) IR TY
Question Number: 8. The tenure of the members of the ESI Corporation is —
Option: (a) One year (b) Two years
(c) Three years (d) Four years

T HEAT: 9. FHAANT o T H 32AGTT HI e ¢ -
RFea: ()01 yfaea (@) 1.25 gfaerd
(3r) 1.50 gfarera () 1.75 gfaera
Question Number: 9. What is the rate of contribution for employees’ —
Option: (3a)1% b) 1.25%
(c) 1.50% (d) 1.75%

TR WEAT: 10. AT foctarnst Fa=tifhd & & foret sraftr & o g g & -

RFeT: (%) 12dcdE (@) 24 "earg
(31) 26 FedTE (&) 52 FedTE
Question Number: 10. Maternity benefit is paid for —
Option: (a) 12 weeks (b) 24 weeks
(c) 26 weeks (d) 52 weeks
3



T2 HEAT: 11. fAr=tifohd 37 & it AT AR A 7L ¢ -

e (&) heredl o 37eT 1A el & SR "ied gHe =g die
(@) HEYAT & F H M7 LA & NI Bfed gHesT sl ge
(3T) YT H AT Bt oh GRTeT TIfed gefeaT Sied die
(&) TH W ST GG T GUeaT ofed de

Question Number: 11. Which, among the following, is not an employment injury —?
Option:  (a) Accident happening while working inside the factory

(b) Accident while travelling in company bus

(c) Accident happening while admitted in a hospital

(d) Accident happening while going for duty

TR WEAT: 12. AR A AT 7 FFAUT 3feqdelsts TgaT aTel TUTT R RIY & Sfed & WOl o7 1 AT cafeaar

oY Thr a2 $JITCATST 2T AT gl STl & -
Reew: (%) vfaqfd (@) AfRSFHa daa
(3r) Confinement cTT (&) Delivery =

Question Number: 12. Payment to an IP towards cost of delivery of child in a place where ESI facilities are not
available is called —

Option: (a) Reimbursement (b) Medical bonus
(c) Confinement expenses (d) Delivery expenses

weT WEaT: 13. Rfdcar Agifacarey @ e @ gefta graur At Usg e wfafaas, 1948 & fha anr

el )
RAFeT:  (F) URTS7 (&) 9RT 58(2)
(3T) YRT 59(A) (&) 9T 59(B)
Question Number: 13. Establishment of medical college is provided under which Section of the ESI Act?
Option:  (a) Section 57 (b) Section 58(2)
(c) Section 59 (A) (d) Section 59(B)

TR WEAT: 14. HAURT A AT HTATAH, 1948 o TcTTcl I7RICTeT STHT AET et oh IORTE H S TR SATed & afTe;, Gei: 3R
1S TTYTeh 3eTeTeT STAT gl &hd @ Al BISe oh eIl 3oTeh ToIdl o] #g=cl fohd &3 T TTaeiTel g-
REFeT: (F) T FA o HREAT (&) T Tl T hRIATE

(31) 2 T T HRIATH (&) et ETeT T HRTETH
Question Number: 14. Minimum punishment for an employer apart from a fine, who has committed the offence of
failure to pay contributions after being convicted of the same offence earlier is,
Option: (a) 06 months imprisonment (b) 01 years’ imprisonment
(c) 02 years’ imprisonment (d) 03 years” imprisonment

T TEAT: 15. 39T HUA T AT Tl T JTaeiTel fohd ORT & RERT &2

RFeT: (F) URT84 (@) 9T 85
(3T) EIRT 86 (%) &TRT 86 A
4

T WEAT: 94, TS AT ITehTR Wt aTel ST cafercrdr st i Rifehcam giaer gred gich &1
e (F) SRFd FUFT T L

(@) IIRFA HU 3P 3T T T

(3N) SRIFT HUA Tl & |

() 1S fashed TET 761 &

Question Number: 94. Medical treatment is also available to IPs who have taken voluntary retirement -
Option:  (a) True

(b) Partly true

(c) False

(d) None of the options are true

W HEAT: 95. Ueh SITA cFTehel o SR qOT &9 A JHTTA gled dTel G T fohd 38 ofeh JATTA fgcTermsy ure gl g1

fA@eT:  (F)18a9 @) 213y
@) 2539 (&) 30 aY

Question Number: 95. Dependants benefits is available to a son who was wholly dependent on the IP, upto the age
of

Option:  (a) 18 years
(b) 21 years
(c) 25 years
(d) 30 years

TR HEAT: 96. Teh GITel o HTY Heldel Teh ST & ol ATard T HETIAT H HISToT SATAT ATAT & | TEART H IR HA AR 1A
FA § AT GICel H 08 HAURY 1A A ¢ | 56 HaeT H 3T 7 § hleT A1 0T TEY 2
AeeT:  (F) A% WTRT cfea T g
(@) R gled sarfeq AT B
(3T) Teh $HTS HTAC §U AT T ST Hell ¢ |
(€) BITTT T IECRT QAT 3TIT-37eT9T ST AT § |

Question Number: 96. A hotel has an attached restaurant, where food is prepared with the aid of power. There are
04 employees in the rests and 08 employees in the hotel. Which is correct?
Option:  (a) Only the restaurant in coverable
(b) Only the hotel is coverable
(c) Both the hotel and restaurant are coverable as a whole
(d) Both the hotel and restaurant are coverable but separately

TR HEAT: 97. T SehTs & . J.&lY. HTATAAH 1948 & 3T ea1fe Ao gt & fohetet feaAt o 3fex forerar gamr
3. 0.8 1Y, IS & ol 31Tde FLAT glaT 82

Aeea: @) 07ReT @) 10 &=t
@) 15 &=t (e1) 28 et

Question Number: 97. What is the time limit within which an employer should apply for ESIC code after his
factory/establishment becomes coverable under the Act?

Option:  (a) 07 days (b) 10 days
(c) 15 days (d) 28 days
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TR WEAT: 89. fAe=AIfohcl 7 & fohar 31a TRy cTeh T 3H2UCTT SINNAR S o diTe; STy eaferet s 3ifcfafRrse fRfehear hr ghaur

e T 1
RAeeT:  (F)39 e @) 78 et
(3r) 06 ATE (&) 02 a&

Question Number: 89. Superspeciality treatment is available to an IP after contributing regularly for
Option:  (a) 39 days (b) 78 days
(c) 06 months (d) 02 years

T HEAT: 90. FaAITohd 7 A SleT AT T FHARY T STAT ATl & 37cTaTd eaTed el &7

RFeT:  (F) BahH @) AR

CRERY (¥T) 3TEOTTT S e2r
Question Number: 90. Which State is not covered under the ESI Act at all?
Option:  (a) Sikkim (b) Mizoram

(c) Tripura (d) Arunachal Pradesh

W HEAT: 91. AT A9y AR H g vt 3 are; NfAe safera =1 o 3rafer & arg ey fecrermer urea gia 82
Reex: (F) 78R (@) 06 ATETAT
(a1) 09 HEW=AT (|) 01 ¥

Question Number: 91. How much time does an IP have to wait for availing Sickness Benefit after joining insurable
employment?

Option: (a) 78 days (b) 06 months
(c) 09 months (d) 01 year

TR WEAT: 92. FH©5 ofFall I7ATeN oh A3 & Tord FaETRT SNARY RTeleT ahel TToct gleir & |
R (%) @i @ At Foa & o
@) TN FIRT A F eI T s &
(3T) AR TgTommeT &1 3raf™r & FATC g1 S & 1
(&) 78 =T Teh 31IeTal & SJ9TcTe o STe.
Question Number: 92. ESB is available for certain long term diseases -
Option:  (a) Taking permission for employer
(b) Two days after the commencement of sickness

(c) Exhausting S.B.
(d) Payment of contributions for 78 days

WRET WEAT: 93. GEICAT i RUIE fohdt 9o # STAT 1 ST 811

RFeT: (F)ERT12 (@) B1H 16
(3N) TR 25 (&) TfdeR 32
Question Number: 93. Accident investigation report is submitted in -
Option:  (a) Form 12 (b) Form 16
(c) ESIC 25 (d) ESIC 32
20

Question Number: 15. Punishment for false statement is guided by which Section?
Option: (a) Section 84 (b) Section 85
(c) Section 86 (d) Section 86 A

e HEAT: 16. FHoaN Tod a7 Hfaferas & frady segea F Fr afia g -
Reer: (F) e ot frakTufa & 3o averar & g1 & ufaera
(W) 377-3737 T AT 7 3151eT &THAT H gIfet a1 wfcyera
(a1) STTaETeh et T g
(&) gofiel T eT

Question Number: 16. The Third Scheduled to the ESI Act gives —

Option: (a) Percentage of loss of earning capacity in different injuries
(b) Percentage of loss of earning capacity in case of amputations
(c) List of Occupational Diseases
(d) Rate of Damages

W& WEAT: 17. 3RACTeT o 3Tl & 75 il & faeia 8 goilel ol Tiied e T greaf?

RFeT: () 05 yfaea (@) 10 gfaera

@3r) 15 gfcrerd () 25 gfcrerd
Question Number: 17.What is the rate of damages for delay in payment of contributions by 75 days?
Option: (a)5% (b) 10 %

(c) 15% (d) 25 %

TR WEAT: 18. 31RMCTeT & 33Tt & 75 &A1 oh faeld & YAl ST &l & 1 gIf?

R&ew:  (F) 05 ufaera (@) 10 gfaerd
() 12 gfaerd (&) 15 gfaerd
Question Number: 18.What is the rates of interest for delay in payment of contributions by 75 days—
Option: (a)5% (b) 10 %
(c)12% (d)15%
T HEAT: 19, FAIRI AT AT AT T TATIAT & ST ITTUTeT eI T AT rffargs i v emr & fedy o
J
REew: (F)9r173 (@) 9T 74
(3M) IRT 75 (&) gRT 77
Question Number: 19. Which Section of the ESI Act authorizes the setting up of E.I Courts —
Option:  (a) Section 73 (b) Section 74
(c) Section 75 (d) Section 77

T HEAT: 20. HHTRY T AT 91 T IS deh Ut T TATIT Y Tohall &

e (%) farngad (@) 3R g

(1) freern (&) EgF fgers
Question Number: 20. The ESI Corporation can create posts upto the level of —
Option: (a) I.C (b) A.C

(c) Director (d)J.D



YT WEAT: 21. ToX: 2l fecTelst & g1aT +g1cie foheiet f&at & fordr foam ST warelT 51

RAeew:  (®)olfea @) 02 e

@31) 03 &=t (&) 07 T
Question Number: 21. Disablement benefit can be claimed for minimum —
Option: (a) 01 day (b) 02 days

(c) 03 days (d) 07 days

TR WEAT: 22. Ueh AHATTSTeh FR&T ITURRY Teh therelT oh A oh GRTeT dTelT & Tob theredT # 10 hetarly fraliored & g ad &
et 3 g FAaTRAT 7 A 03 FHARY 31l W A | 38 IREATT 7 FaA1loha 7 & Sl a1 HFUT T -
Reew: (&) herell canfod Ao 781 § 1T @l HA=TRAT i ATl .34, 3fRfas 7 sanfea €A & 3R |
(@) SeredT AT A § FAifeh therell 7 AoTgd! 8 10 ik Ao 81
(@31) SheredT cTIfea AT AT § Fifoh A o T Shaol AT AT 1A X I |
(%) theredY cnfea 9T AET § Fifeh foa 1 Rivre & hael IR cafard F1a o 1§ o 3R T $r Rive 7 03 safad
FH N & I
Question Number: 22. A factory employees 10 persons and out of this 03 are on leave on the day S.S.0. visits for
survey. Which of the following statements is true —?
Option: (a) It is not coverable as all the ten persons are drawing wages above the wage ceiling
(b) It is coverable as the factory employs ten persons for wages
(c) It is not coverable as only 07 persons were working on the day S.S.0O. visits for survey

(d) It is not coverable as only 04 persons were working in the day shift and 03 persons were working in
the night shift

weeT FEAT: 23. fhd AT safera & AT Fear fardst 37t Hr g gl

Reew:  (F) 083+ (@) 09 37

(3r) 10 37 (%) 313 A IS LT |
Question Number: 23. Insurance Number of an IP consists of —
Option: (a) 08 digits (b) 09 digits

(c) 10 digits (d) None of the above

TR WEAT: 24. RN T d1AT 78 T v ASHISE oh SaRT ol ATsTeh 9T GoTIehiOT Ue 37RIGTo ohT §[ITclTel il § |

REeT: (&) www.esic.org (@) www.esic.nic.in
(3r) www.esic.gov.in (&) www.esic.in

Question Number: 24. Employers are now accessing ESIC website for registration and payment of contributions. This
is —

Option: (a) www.esic.org (b) www.esic.nic.in
(c) www.esic.gov.in (d) www.esic.in

TR WEAT: 25. FEAT & HTURR & 3MTdeet bt A & fohclel fereil & 37X hearg Sileh T TR SIRT AT Feled ittt

3720aT HROT 3TAEeT I fAET T 8Iar g
RAeew: (@) 107 (@) 15 fea
(3 21 &=t (en) 30 foT

Y HEAT: 84. 3T ITHT RATI 3T o6 1T o fohelet &t & 37eX Teclifaret AT o feehe hraiferd 31 TRl etm el

g?
ReeT:  (F) 07 @) 10 &=
@) 15 &=t (&) 30 =T
Question Number: 84. What is the time limit fixed for production of onward journey tickets after drawal of LTC
advance?
Option: (a) 07 days (b) 10 days
(c) 15 days (d) 30 days

YR WEAT: 85, {aT 37aTe & ERTeT “I[6 AIR” T Fohclall SR Serell ST Hehell £72
ReeT:  (F) THIR (@) T IR
QWEIGEIR (&) TR IR

Question Number: 85. How many times “Home Town” can be changed during service?
Option: (a) Once (b) Twice
(c) Thrice (d) Four times

W HEAT: 86. oot ¥ & it Rrfdhear v fafey 3mgw & 3iaaid 76T el 82
Reew: (&) Rer (@) e

(1) GeATeir CIRGIEE
Question Number: 86. Which method of treatment is not included in AYUSH?
Option:  (a) Siddha (b) Yoga

(c) Unani (d) Allopathy

woeT HEAT: 87. TAToII# 69 & 37cfeTet forelt foraiiaies ganr fond o sarr i wfafet & wfarfet arar forere wevet weqer fomam

ST gl
Reer: (%) Ts7 RfEr 3mged / Tz RAfhcar sy
(@) TsT THR
@) FgIfacers, & .38, e
(w) Forer & Feg fafecar st
Question Number: 87. Reimbursement of expenses incurred by employer under Regulation 69 can be submitted to -
Option: (a) SMC/SMO (b) State Govt.
(c) Director General, ESIC (d) Chief Medical Officer of the district
TR HEAT: 88. Tsia AN ATHeh SHeATOT AT o IHcTaTcl JThAH fehctel 3rafer 1 S[aTeiret foham ST Fehel 1
Reer: (F) ITAE (@) 06 AT
(3n) 01 |TeT (&) 02 |rel
Question Number: 88. Payments under Rajiv Gandhi Shramik Kalyan Yojana can be made for a maximum period of -
Option: (a) 03 months (b) 06 months
(c) 01 year (d) 02 years
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wReT HE&AT: 79. Helt 7clt 3 337 o 7 e o ST AT B
Reew: (%) g sfd/sieenta & g

(@) 317 Toer Aol & Feea

(31) ITCTETTH FHE & G

(@) g9 dfAw
Question Number: 79. Age relaxation is not available in direct reimbursement for
Option:  (a) SC/ST (b) OBC

(c) Minority (d) Ex Servicemen

9o HEAT: 80. fAFIThd & & HiA T “gus” §?
RFeT:  (F) TFRI TAT Tod & dgd AaT HT JATYH (&) AdTG=1T
(@) feee (&) 3T HafT

Question Number: 80. Which out of the following is a “penalty”?
Option: (a) Termination of service under Temporary Service Rules
(b) Warning
(c) Censure
(d) All of the above

TR HEAT: 81. 3ToTct 3aehTeT o 3TTehTer & WY TET HYFcT [T ST Hebell o-

RFeT:  (F) THITHAS THIA (@) AT 3TNy
(3T) 37T 3TaahIRT (¥T) 37T 3TThTeT

Question Number: 81. E.L cannot be combined with -
Option: (a) Casual Leave (b) Maternity Leave
(c) Half Pay Leave (d) Study Leave

weeT HE&AT: 82. fhE 31 & da ST AT @raT &
RFew:  (F) 3r93de 3raprer (@) TeT TS TET
(3T) 3THTEIROT 3rqehTeT (&) gRafcla srgenrer

Question Number: 82. No Salary is given in -
Option: (a) HPL (b) CCL
(c) EOL (d) Commuted Leave

TR WEAT: 83. Ueh JTIATTEcl TN ST T fohcled fere Tea 3raehrer f&m 51T Hehel €1
RFer: @) 15RTdH (@) 20 feaT as
@3n) 30 feT (%) JAT AET &

Question Number: 83. An unmarried male employee can be granted paternity leave for -

Option: (a) 15 days (b) 20 days
(c) 30 days (d) Not eligible
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Question Number: 25. By what time should the CPIO provide information or reject the request with reasons, from

date of request?
Option: (a) 10 days (b) 15 days
(c) 21 days (d) 30 days

ReT HEAT: 26. FIT H1 HUFR 3rfaferaer fhe o oRa gam am
RAFeT:  (F) 2000 (@) 2004
(3T) 2005 (er) 2008

Question Number: 26. In which year was the RTI Act enacted?
Option:  (a) 2000 (b) 2004
(c) 2005 (d) 2008

TR HEAT: 27. AT & HTUHR AT & 37T 3HTdet 8 < Yoh o T # fohef olalt ¥ faagfera wrea & -
ReeT: (%) dqqAd SfAsERRd Sefd & deeg

(@) 60 T T 3T & 31T Y & G AETRS

(3T) 65 A T I T 3HTF I & T ARRE

(&) IR BT AT I@T & A & AFIR

Question Number: 27. Who are exempted from paying the requisite fee under the RTI Act?
Option:  (a) Persons belonging to SC/ST category

(b) Senior citizen above 60

(c) Senior citizen above 65

(d) Persons belonging to BPL category

TR WEAT: 28, FAT & fUHR e, Peifed 7 & frad g ued a5 w1 3AfRaR Sar gl
Reex:  (F) A Frafaar
(@) g T FHraferar
(Y RIEEIGER IBET
(&) WIS foteh TIEIHIOT, Tollhc HIATS Td gFe
Question Number: 28. RTI Act gives right to seek information from the following —
Option: (a) Private companies
(b) MNC companies

(c) Public authorities
(d) Public authorities including registered Societies and Trusts

T HEAT: 29. HHART T STAT [RAITH & FHIRYT Y ARAR ey [&ail deh a1 3Taehrer feam ST Fehdr &7

RFeT: (F)02ay (@) 03 3y

() 05 3% (@) 07 o
Question Number: 29. What is the maximum paid of leave that can be granted to an ESIC employee?
Option:  (a) 02 years (b) 03 years

(c) 05 years (d) 07 years



YR WEAT: 30. 3TTeh1eT AT RATI ATecl et §cf wgeAciH Tohclt et o T quT gl =R T -
RFeq:  (F) 06 AL HI AR TaT (@) 01 ¥ F¥ FTMIR JaT

() 02 T Y IR e (&) 04 I ¥ SRR JF
Question Number: 30. What is the minimum service required to avail LTC —
Option: (a) 06 months continuous service (b) 01 yeas continuous service

(c) 02 years continuous service (d) 04 years continuous service

9o HEAT: 31. 37T T Y. T 37T FATE?

fAFed:  (F) 3iosaa AFR 3116 qIferarde (@) sfsaeT AfSFor ey
(1) S=EgL AfSaret YiFeawa (&) 3=Eg1H Afdare WiAsH

Question Number: 31. The word IMP means —

Option: (a) Indian Member of Parliament (b) Indian Medical Practitioners
(c) Insurance Medical Practitioners (d) Insurance Medical Paramedic

eeT HEAT: 32. fAe=1fohad & & i 3.09.31m3. 31fafaTs & 3ideTa T v oft & F&7 3mar g -

Reew:  (F) IR LS/ S5 9l (@) TR AT

(31) TIFTIIR HFTir (CEEIECRYTE: ]
Question Number: 32. Which is not an establishment under the ESI Act -?
Option: (a) Band party (b) Municipality

(c) Software company (d) Advertising agency

oo WEAT: 33. 31T YHTUT 9T & SR 8T ¥l T AT F GUH YATOT U5 & SR et & ey feail & 3feed ALIadr

JATOT 97 ST AT @Il & -
AweT:  (F)03feaT (@) 07 &t
@an) 10 =T () 14 R

Question Number: 33. Intermediate certificate is issued when final certificate cannot be issued within how many
days after issue of first certificate —

Option: (a) 03 days (b) 07 days
(c) 10 days (d) 14 days

9o HELT: 34. FIIRT I oA (Tafaraa) 1950 & Taferaret 64 & graemaAt st fRrefrer et 1 TSR hd aread g ?

RFeT:  (F) yu= s (@) ATET JaETh

(@) fercTomeT e 3rfRrerr (=) & fAcerR
Question Number: 34. Who is authorized to relax Regulation 64?
Option: (a) Head Clerk (b) Manager

(c) Benefit Branch Officer (d) Regional Director

ReT HEAT: 35. RATATH 52 3 31T NARY Rrctemst Rty ferett 3 37e e & -

fAweT:  (F)03feT (@) 05 &t
@n) 07 &=t () 14 T
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Question Number: 74. An employee draws Rs. 20,000/- as wages in January 2018. In February, his wages increases
to Rs. 23,000/-. Which statement in correct?
Option:  (a) He will stop contributing from February 2018
(b) He will continue to contribute upto March 2018
(c) He will continue to contribute upto September 2018
(d) None of the above

WR&T HEAT: 75. C.P.1.0. T qUT &9 &7 §?
f@®ed: (&) Central Public Inquiry Officer
(@) Central Patent Information Officer

(31) Central Public Information Office

(&) 1S +TET

Question Number: 75. CPIO means

Option: (a) Central Public Inquiry Officer (b) Central Patent Information Office
(c) Central Public Information Officer (d) None of the above

TR WEAT: 76. TS o Yol TR W I TeheT F2aAT oh HeeT 3 He]q¥eh TReT I off Hehl &2
RFeT:  (F) SAHAHIOT TEATT @) 379 T Fr al==t
(31) AR 92T (&) TARifohd g2
Question Number: 76. In which type of questions tabled in Parliament are supplementary questions asked?
Option:  (a) Calling Attention Motion
(b) Half an Hour Discussion

(c) Starred questions
(d) Unstarred questions

TR HEAT: 77. RrctetY 37afer & SATET Focafg 31 (@t T e & Teh sy dhatary 1 foeifordt famam S werar &1
Reew: (%) 24 "ger (@) 48 TeT
@) 72 GeT (%) 96 TeT

Question Number: 77. A Govt. Servant is placed under suspension if he is detained in custody for a period exceeding

Option:  (a) 24 hours (b) 48 hours
(c) 72 hours (d) 96 hours

TR HEAT: 78. TAe=Tiehel 7 Q hleT HrTordy FeeT b1 ATCTH oTgl 62
Reew:  (F) A9 @) a9

(3r) 3 eMHST I (&) Sfarehr feoquf
Question Number: 78. Which is not an official from of communication?
Option:  (a) Memorandum

(b) Circular

(c) D.O Letter

(d) File Noting
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TR HEAT: 71. TG JiaTe Si1eT01 & et ifird safad &1 &7 &feies stear T g Fr 82
REFew: (F) 7539 (@) 120 T9
(3r) 125 T9A (&) 150 39

Question Number: 71. What is the rate of daily allowance when IP undergoes vocational rehabilitation training?
Option:  (a) Rs. 75/-

(b) Rs. 100/-

(c) Rs. 125/-

(d) Rs. 150/-

T WEAT: 72. AR I AT JTATATT & 31T Pt Romer 27 7181 &2
Reew: (&) F0A 3090 7 gareT HE

(@) TAIeT ST AT TTAETOT TETeT el

(1) 978 TRHTOT & AT FaleT et

(¥) PTH ST TUT TRAT T T AT

Question Number: 72. Which is not a benefit under the ESI Act?
Option: (a) Provision of artificial limbs

(b) Provision of fresh vocational Job Training

(c) Provision of loans for house building

(d) Provision of dentures and spectacles

R WEAT: 73. T & q A T FT T AGT &
RAFeT: (&) 3T 3IcTe 6 0T 6] INaReTSH T Hstedy i ¢ enfdret o S g
(@) Tt el BT o 3.3 Jrfforaer 7 =71t g FoTqdl HiAT 1 AT0TT o ford 3T Hafedy &1 anfder
EREERIEICIES
(3T) & 3T T IUTAT B ERETSH HSIGU T AMTAS LT fohar ST &1
(&) 39T el

Question Number: 73. Which statement is not correct?

Option: (a) Overtime is counted as wages for payment of contributions
(b) Overtime is not treated as wages for deciding coverability of an employee
(c) Overtime is not counted as wages for payment of contributions
(d) All of the above

TR WEAT: 74. Teh AR shT ATTHeh HIGU Sfefadl 2018 F 20,000/- TG4 &Y | BT AT H IHeRT HoTad! T 23,000/- &
T | 3T T F PR d A A FT T E?
AFeq:  (F) ALY 2018 V IFd FITTARY T 372ASTT ST 78T &
(W) 3Fd FHARY & T 7 AT 2018 dh 372USTeT I g |
(3N) 3Fd FHART & T F fATFaT 2018 T 3721 S g1 |
(&) 1S 7T
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Question Number: 35. Under Regulation 52, sickness benefit is payable within —
Option: (a) 03 days (b) 05 days
(c) 07 days (d) 14 days

YT WEAT: 36. Foha TecTost o faferera (veh #42c) foham T FeherT B
RFeq:  (F) TARY Baemsr (@) 1A 3TIITAT fEcTelmsT
(31) T 37997 Fecetrs (&) 33 fgefermer

Question Number: 36. Which benefit can be commuted?

Option:  (a) Sickness benefit (b) Temporarily Disability Benefit

(c) Permanent Disability Benefit (d) Dependants Benefit

TR WEAT: 37. AR TReTemst 7 $7arcireT 318y fohareh ga fevam ST & -

RFeT: (F)AF3 @) IH
@3T) HAY 3T () sdTg.
Question Number: 37. Sickness benefit is now paid through —
Option: (a) Cash (b) Cheque
(c) Money Order (d) ECS

TR WEAT: 38. AfSehel e TeegeTer ek ganT a1fad fahar STar 81

Reeq: (F) Tl g a1 @ (@) TS THR
@3N) 3T =TT (&) TYTAY 3Tl

Question Number: 38. MAT (Medical Appellate Tribunal) is constituted by —

Option: (a) ESI Corporation (b) State Govt.

(c) High Court of the State (d) Standing Orders

TR WEAT: 39. A TEcTemst il Tt g Tedeh a¥ Sitdet FATOT U= fohd HElel H STAT el gl ¢ |

RFeT:  (F) FTadr (@) 3T

(1) oIS (a) FaFaT
Question Number: 39. Life certificate is required to be submitted every —
Option: (a) January (b) April

(c) July (d) November

TRET HEAT: 40. Teh G o 3{I[ST AT TR ATt o glfat & Harer 7 fove iR & ardy 3rsiet afovetm iy gifet ot gfaera #ar g2

RFeT: () 40 yfaea (@) 60 gfaera

(3ar) 75 gfaerd (&) 100 gfaera
Question Number: 40. What is the percentage of disability for loss of thumb and four fingers of one hand?
Option: (a)40% (b) 60 %

()75 % (d) 100 %
TR HEAT: 41. T 311 i gTfet (HT e arfed i g1fe) & ford et sratet arem &1 arfer &t afaea #ar &2
RFeT: (@) 30 yfaea (@) 40 gfaera

(31) 60 gfaerd (&) 100 gfarera



Question Number: 41. What is the percentage of disability for loss of one eye (total loss of vision)-
Option: (a)25% (b) 40 %
(c) 60 % (d) 100 %

TR HEAT: 42. VSTTR TN 3 SHROT AT STl &hl Feg el & TG, al Taerdl Teoll glet hl TRIEATCT 7 Fedeh Teall bl AT
fRcTeImeT T &3 T grafr?
Reew: (@) @i aas
(@) Jcheh Yealt T ot T T 2/5
(3T) QT &2 &1 3/5 ST Fedeh Ueedl 3 HATT 9§ fasmrar gram|
(&) 9T &Y T 2/5 ST Jedeh Teelt 7 Gl 9 § fastma grem|

Question Number: 42. An IP dies due to employment injury, leaving two widows, they will receive?
Option:  (a) 3/5" of the full rate each

(b) 2/5" of the full rate each

(c) 3/5™ of the full rate to be divided equally

(d) 2/5" of the full rate to be divided equally

T TEAT: 43. IRER fFATste g Vasectomy e RIfehcar & forw aRaftia AR Raens o= feai & R &g gar g -

R@Feq:  (F)05fea @) 07 fea

@) 15 f&et (=) 21 T
Question Number: 43. Enhanced sickness benefit available for vasectomy operation under family planning is —
Option:  (a) 05 days (b) 07 days

(c) 15 days (d) 21 days

weeT HEAT: 44. fArAifha 7 & fordt 3rafer & ford Rafeca wred &2 ot & a1e; faedRa Rfdcar federmer ured et arer
AT afFa @I AT ganr Alendl & Afew St [Aerer oI Gehdarg -

REeT: (%) 06#FE (@) 12 AT
(M) 18 AT (%) 24 ATE

Question Number: 44. An IP who is receipt of ESB can be dismissed/discharged from service by his employer on due
notice if he has been on treatment for not less than —

Option: (a) 06 months (b) 12 months
(c) 18 months (d) 24 months

TR HEAT: 45. faTaTRa SIANT fRaenst ftean fra 3afer & o fgar sTasarg -
ReeT: (F)THay
(@) aray
(1) et aw
(&) 9Tg a§
Question Number: 45. ESB can be paid for a maximum of —
Option: (a) 01 year
(b) 02 years
(c) 03 years
(d) 05 years
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TR HEAT: 66. TAINFT aRT FaTTRY & TFE T 3RISTT FIC o IURId, 3HLAeTeT T FHARY T STAT [T 3 91 STAT
T H IO 6t o HtT & GATH Foll AT 82

R&ed:  (F) TIY 10,000/~ T GUE TAT 06 FLIeT I HRIATH
(@) I 10,000/~ T GUS FAT 02 T T HRIETH
(3T) TG 10,000/~ ST &US IUT 01 TY T HRTATH

(&) TG 5000/- ST GUS TAUT 06 FHEIA &hl HRIATH
Question Number: 66. Where an employer deducts employees’ stare of contributions from his wages and fails to
pay, the minimum punishment is -
Option:  (a) 06 months imprisonment and fine of Rs. 10,000/-
(b) 01 year imprisonment and fine of Rs. 10,000/~
(c) 01 year imprisonment and fine of Rs. 10,000/-
(d) 06 months imprisonment and fine of Rs. 5,000/-

TR WEAT: 67. ~ATATCIY 3 THET T (ol ST Yo THATSTST I hlel ATTH of el 672
RFeT: (%) ATAF (@) ST ITgeFT
@) & fagers (&) TR T

Question Number: 67. Which authority can withdraw prosecutions filed?

Option:  (a) Director Generh (b) Insurance Commissioner

(c) Regional Director (d) Branch Manager
92T HEAT: 68. foT:2ed FHATRAT & T8 # folo 7 & FA1 FeT 872
AT (F) AT F7 3T Fea T TIHR & GaRT dNed Aol deh G AT R |
(@) TANFAT T 3iRIETT I8, HNITH & SaRT A ATeT Ik T ST & |
(31) FHHTAT T 3G Sheg; TIHR GART G1d ¥ o Tord fGam ST g
(7) AR T 32T F .18, 9T GanT urg a¥ e fear ST g
Question Number: 68. For disabled employees, which is correct?
Option: (a) Employer’s share is paid by Central Govt. for 03 years
(b) Employer’s share is paid by ESIC for 03 years

(c) Employer’s share is paid by Central Govt. for 05 years
(d) Employer’s share is paid by ESIC for 05 years

wReT EAT: 69. RAfhear ametard & forw Arced st faraen rafer o &1 fear srar g |

Reew: (%) 04 TcdE (®&) 06 HedTE
(3r) 08 |edTE (%) 12 TedTg
Question Number: 69. Maternity Benefit for medical termination of pregnancy is paid for-
Option: (a) 04 weeks (b) 06 weeks
(c) 08 weeks (d) 12 weeks
T FEAT: 70. HEATAY AT FedeTsT & TR glet o fohcdel el aTe; AT JatTeh GaRT ATH &l AfSehel YW & I8
o fad el a1 |
RAFeT:  (F)60 e (@) 120 &1
@) 180 et (=) 200 fet
Question Number: 70. After how many days of TDB, Manager should make a reference to MR-
Option: (a) 60 days (b) 120 days
(c) 180 days (d) 200 days
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W WEAT: 60. RATReaT fEctanst g 3nTAe ATdT-far & uraar & Faer 7 3mar ArAr Gaely yraene frasd afvld g

RFeT: (F)URT61LH @) a6l A

@ FaF61-AH (o) FaFe0 A
Question Number: 60. Income limit of dependent parents for eligibility to medical benefits is given in
Option: (a) Section 61 (b) Rule 61

(c) Rule 61 A (d) Rule 60

esT HEAT: 61. Wwwwﬁaaﬁﬁa‘hﬁ%%?gﬂww%aua JrrafaTs fr fovw arT & fear AT g2
RFeT: (F)YRTS51B (@) gRT51C
(3N Y¥RT51 D (") URT51 E

Question Number: 61. Commuting accidents are given under?
Option: (a) Section 51B (b) Section 51 C
(c) Section 51 D (d) Section 51 E

o WEAT: 62. faTaTRa ARy Renst Fa ey AT garg -
Reew: (&) 3ia & Haigdr 1 70 wfaea (@) 3iraa &fee FaTqdr 1 80 wfaerd
(1) 3T Sfoteh HTadr T 90 Fcrere (&) 3T foten HsTgdr T 100 Hcerd

Question Number: 62. ESB is now -
Option: (a) 70 % of average daily wages (b) 80 % of average daily wages
(c) 90 % of average daily wages (d) 100 % of average daily wages

T HEAT: 63. HIART T STHT ATSTAT HT LA el fohaT I12T|

RFeq:  (F) 24 BT 1952 (@) 26 STeTasr 1952
(31) 24 HIALT 1948 (8) 26 STeTall 1948
Question Number: 63. ESI Scheme was stated on
Option:  (a) 24" February 1952 (b) 26" January 1952
(c) 24" February 1948 (d) 26" January 1948
T WEAT: 64. FHART T STAT AT fohg 1RSSR HEAT T e LT §7?
RFeT: (&) g Tareyy @t (&) ARSI A TIST
() Ffraw (&) HRTSET FTATINS FET HISoT
Question Number: 64. ESIC is a member of which body?
Option: (a) WHO (b) ILO
(c) UNICEF (d) ISSA

Yoo WEAT: 65. % I8, JrfRferzre v foha URT & 37 Rifshcar glawr ¢ &1 fSeAar o7 THR H &

RAeeT: (F) ORT56 (@) 9T 57
(3T) YRT 58 (1) R 59
Question Number: 65. Sate Govt. is entrusted with providing medical care under -
Option: (a) Section 56 (b) Section 57
(c) Section 58 (d) Section 59
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Yoo WEAT: 46, eIl 3 I forey IR & 3ifaw dear a7 78T & -
fFed: (%) vk feet 1 dar & a1g AT FieFd H Hcg g F a1e
(@) 06 HTE T AT & aTe; NAT SATFA T HF gl & 1
(1) Aarfaged SR caid & Hcg g1 & e
(&) TATAY FEATS UTCc A aTel IThIRN Tl SR AT I Hcg & a1,
Question Number: 46. Funeral expenses are not payable in case of —
Option: (a) Death of IP after one day of service
(b) Death of IP after 06 months service

(c) Death of retired IP
(d) Death of retired IP drawing PDB

T EAT: 47. 3TQH GEHR I & &1d H eid &1 fong 379 de ATF faam ST gehar & -

fEew:  (F) AT ASS (@) 06 FEIA

@ o013y () 02 3§
Question Number: 47. Condonation of delay for claim of funeral expenses can be done upto —
Option:  (a) 03 months (b) 06 months

(c) 01 year (d) 02 years

9 TEAT: 48. AT 3TN & GRTT hisT AT FTTS UTCd & ThdT 5|

RFeT: (&) AR fedomr (@) faraRa drardt fecemst
(31) AT TEeformer (=) 3ifaH FEPR =TT

Question Number: 48. Which benefit is admissible while on paid leave —?
Option:  (a) Sickness benefit (b) Extend sickness benefit
(c) Maternity benefit (d) Funeral expenses

YT HEAT: 49. fAv=AiThe 3 & RFT ORT & 3iaeTa Tog TR TG TR AT & |
REFew:  (®) 9RT1(3) (&) GRT 1(4)
(3T) ERT 1(5) (W) €T 2(12)

Question Number: 49. The State Govt. issue Notifications under—
Option:  (a) Section 1(3)

(b) Section 1(4)

(c) Section 1(5)

(d) Section 2(12)

WReT WEAT: 50. FRATheaT fgceler TRe &1 @ Hisl gIar s -
RFeT:  (F) F.I0.8T. 97 7 378787
(@) .18, 913 3 TCUSTeT HIALT T 318787
(31) S .37.8Y. AT FT1 AGITACASR
(¥) I3, fovara & FRAfehear 3mgerd
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Question Number: 50. The Medical Benefit Council is headed by —
Option: (a) Chairman, ESI Corporation

(b) Chairman, Standing Committee

(c) DG, ESIC

(d) MC, ESIC

WeeT WEAT: 51. [Aiohe 7 & leT ..o, 31RITTH & 3T “sefardy” e &1
ReeT:  (F) nifew sfRfags & i fAgerd faar arr smifew

(@) TR AT & ol [gered van 3sifeq

QRSN

(&) FTeere 37afer & A9 Toh HAaRT

Question Number: 51. Who, among the following, is not an “employee” under the Act?
Option: (a) An Apprentice engage under Apprentices Act

(b) An Apprentice engaged under Standing Orders

(c) A Trainee

(d) An employee on probation

YR WEAT: 52. 32ACTeT o 33Tl oh [T hieT Sccrardr 82
Reew:  (F) gy @A
(@) deahTet fAdTSTieh 3720dT Hdgh
(31) AcehTel foraiTsTes T TerTet A atsTeh aat
(&) S8, e

Question Number: 52. Who is responsible for payment of contributions?
Option: (a) Principal employer

(b) Immediate employer on contractor

(c) Both principal employer and immediate employer

(d) ESI Corporation

W2 HEAT: 53. fAF=ifoha & & HleT wernet feraiisres v Aoft 7 77gt 3 & -
f&ew:  (F) cgaarg F &

(@) g@eI (Occupier)

(31) HellgeapX

(%) PRATAT ATATTIH o 3T IRATT FaT 31271 Jaerah
Question Number: 53. Principal employer does not include —
Option:  (a) Owner

(b) Occupier

(c) Consultant

(d) Manager under Factories Act

T EAT: 54. H.I0.91. [ATH F AT T Y AT Yoot aTel STAT T [FGI0T H.30.407. JfARTH fH v e & e arar g ?

RFeT: (F)YRT28 (&) gRT 29
(3T) €T 32 (%) 9RT 38
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Question Number: 54. Which Section deals with the purpose for which expenses can be done from ESI fund?
Option: (a) Section 28 (b) Section 29
(c) Section 32 (d) Section 38

TesT HEAT: 55. .08, AT & 37TINT I 3T T &I hisT T FAT &?

RAFeT: (F) T4 (@) Fog THR

@ F. e (&) Frr FfAd
Question Number: 55. Who decides the rate of contributions?
Option:  (a) Parliament (b) Central Govt.

(c) ESI Corporation (d) Standing Committee

TR WEAT: 56. Toh 37a e ofeh o I.alY. 978 & a1fden Wil bt 1Rl o Toiaieh Fg T uliaTeh & THET Yol el Biell © -

RFeT: (F) 1573 @) 3173
() 15 ST (e) 30 ST

Question Number: 56. By which time should the annual accounts of the ESI Corporation presented to the C.A.G.
every year —

Option:  (a) 15" May (b) 31* May
(c) 15" June (d) 30" June

9o HEAT: 57. ﬁmﬁﬁaﬁﬂﬁ'ﬂﬁm(exempted employee)g|

RweT: (@) v Feary o Aol ... afafees & siaela canfta ¢ Wutfa Aegd & samer §
(@) T FHAANT foreehr 3ihaa §fee Al 137 $99 & SeT 78 &
(31) Teh HT HoTell IR YeT: foigeret feam aram shatemdy
(&) U e FHIART

Question Number: 57. Who is an exempted employee?

Option:  (a) An employee whose wages exceed the wage ceiling
(b) An employee whose average daily wages do not exceed Rs. 137/-
(c) An Employee who is re-employed on fixed remuneration
(d) An adhoc employee

W& HEAT: 58. AT fgcTonnst fohelall a UTed &Y Hehell 62

RAFeT:  (@F) QAR @) AT IR

(3N) IR IR (&) F1S FAT TG & |
Question Number: 58. How many times Maternity Benefit can be paid?
Option:  (a) Twie (b) Thrice

(c) Four times (d) No limit
el WEAT: 59. Confinement expenses fhdaiT IR & ST Hehell §7?
ReeT: @) aTaR (@) AT IR

(N IR IR (&) SIS HAT AR B
Question Number: 59. How many times confinement expenses can be paid?
Option:  (a) Twice (b) Thrice

(c) Four times (d) No limit
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